J ’b 2 YnpoleHue MHOTO4I€HOB

Nwms: Jara: Onenka:
3(8x3 + 3x2) — 6> — 7> — 9x? 3% — 3% + 8 + 4(6x2 + 5x)
3x— 8% — 4y + 4(3x3 - 4x3) 3x% — 5%+ Tx — 7% + 6x7
4% + 2% = 28 4+ 2+ TN Sx? + X% — 4(Tx + 2x%) + 2x
2% = 3x+8x° — Tx + 8x 20 + 3x+ T + 4x> — Ox°
4(2x% — 8x) + 3% + 3x° — 3x? 2 — 6x% +3x% — 3x° + 9x?
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J ’b ‘2 YnpoleHue MHOTO4I€HOB

Nwms: Jara: Orenka:
3(8%° + 3x%) — 62 — 7> — 9x? 3% = 3% + 8% + 4(6x° + 5%)
175> — 62 5% + 27 + 20x
3x— 8¢ — 4 + 4(3x3 — 4x3) 3% — 5x% + Tx — T + 6x2
—12x° — 42 + 3x 3% — 62 + Tx
4% + 2% = 23 + 2x + T Sx? + X% — 4(Tx + 2x%) + 2x
50 + 67 + 2x —28x
2> — 3x+ 8x° — Tx + 8« 2 + 3x+ 7x° + 4x° — Ox°
100> — 2x 4 + 3x
4(2x° — 8x) + 3% + 3x° — 3x? 2 — 6x% + 3% — 37 + 9x?
6 + 5% — 32x — + 6x2
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